

THE SOLUTIONS OF SOME OPERATOR EQUATIONS

DRAGANA S. CVETKOVIĆ-ILIĆ

ABSTRACT. In this paper we consider the solvability and describe the set of the solutions of the operator equations

$$AX + X^*C = B$$

and

$$AXB + B^*X^*A^* = C.$$

This generalizes the results of D. S. Djordjević [*Explicit solution of the operator equation $A^*X + X^*A = B$* , J. Comput. Appl. Math. **200** (2007), 701–704].

1. Introduction

Throughout the paper \mathcal{H} and \mathcal{K} are Hilbert spaces over the same field. We denote the set of all bounded linear operators from \mathcal{H} into \mathcal{K} by $\mathcal{L}(\mathcal{H}, \mathcal{K})$ and by $\mathcal{L}(\mathcal{H})$ when $\mathcal{H} = \mathcal{K}$. For $A \in \mathcal{L}(\mathcal{H}, \mathcal{K})$, let $\mathcal{R}(A)$ and $\mathcal{N}(A)$ be the range of A and the null space of A , respectively.

$A \in \mathcal{L}(\mathcal{H}, \mathcal{K})$ is g -invertible, if there exists an operator $A^- \in \mathcal{L}(\mathcal{K}, \mathcal{H})$, such that $AA^-A = A$. In this case A^- is called a g -inverse, or an inner generalized inverse of A . Recall that $A \in \mathcal{L}(\mathcal{H}, \mathcal{K})$ is g -invertible if and only if $\mathcal{R}(A)$ and $\mathcal{N}(A)$, respectively, are closed and complemented subspaces of \mathcal{K} and \mathcal{H} . If $A \in \mathcal{L}(\mathcal{H}, \mathcal{K})$, then A is g -invertible if and only if $\mathcal{R}(A)$ is closed. In this case the Moore-Penrose generalized inverse of A , denoted by A^\dagger , is the unique operator $A^\dagger \in \mathcal{L}(\mathcal{K}, \mathcal{H})$ which satisfies

$$AA^\dagger A = A, \quad A^\dagger AA^\dagger = A^\dagger, \quad (AA^\dagger)^* = AA^\dagger \quad \text{and} \quad (A^\dagger A)^* = A^\dagger A.$$

It is well-known that if $A \in \mathcal{L}(\mathcal{H}, \mathcal{K})$ has a closed range, then using the following decompositions

$$\mathcal{H} = \mathcal{R}(A^*) \oplus \mathcal{N}(A) \quad \text{and} \quad \mathcal{K} = \mathcal{R}(A) \oplus \mathcal{N}(A^*),$$

Received February 14, 2007; Revised April 26, 2007.

2000 *Mathematics Subject Classification.* 47A52, 47A62, 15A24.

Key words and phrases. operator equation, Moore-Penrose inverse, g -invertibility.

Supported by Grant No. 144003 of the Ministry of Science, Technology and Development, Republic of Serbia.

since A is g -invertible, we have that

$$A = \begin{bmatrix} A_1 & 0 \\ 0 & 0 \end{bmatrix} : \begin{bmatrix} \mathcal{R}(A^*) \\ \mathcal{N}(A) \end{bmatrix} \rightarrow \begin{bmatrix} \mathcal{R}(A) \\ \mathcal{N}(A^*) \end{bmatrix},$$

where $A_1 : \mathcal{R}(A^*) \rightarrow \mathcal{R}(A)$ is invertible.

In this case, the Moore-Penrose generalized inverse of A has the following matrix decomposition

$$A^\dagger = \begin{bmatrix} A_1^{-1} & 0 \\ 0 & 0 \end{bmatrix} : \begin{bmatrix} \mathcal{R}(A) \\ \mathcal{N}(A^*) \end{bmatrix} \rightarrow \begin{bmatrix} \mathcal{R}(A^*) \\ \mathcal{N}(A) \end{bmatrix}.$$

For other important properties of generalized inverses see [1], [3], [2], [5].

There are many papers in which the basic aim is to find necessary and sufficient conditions for the existence of a solution to some matrix or operator equations. The reason for this is that there is a large number of applications in physics, mechanics, control theory and many other fields (see [6], [10], [9], [8]).

This paper was motivated by the paper [4] in which the necessary and sufficient conditions for the existence of a solution of the equation

$$(1) \quad AX + X^*A^* = B,$$

were given and the set of the solutions was completely describe, for the operators $A \in \mathcal{L}(\mathcal{K}, \mathcal{H})$ and $B \in \mathcal{L}(\mathcal{H})$. In this paper we consider two generalizations of the equation (1) and we get the results from [4] as a corollary for both cases.

In the first section the object of our interest is the equation

$$AX + X^*C = B,$$

first in the case when $A \in \mathcal{L}(\mathcal{K}, \mathcal{H})$ and $C \in \mathcal{L}(\mathcal{H}, \mathcal{K})$ are invertible and then in the case when they are g -invertible. The results from [4] are obtained for $C = A^*$.

In the second section we give the necessary and sufficient conditions of the existence of a solution of the equation

$$AXB + B^*X^*A^* = C,$$

under some additional assumptions for the operators $A \in \mathcal{L}(\mathcal{H}, \mathcal{K}), B \in \mathcal{L}(\mathcal{K}, \mathcal{H})$ and $C \in \mathcal{L}(\mathcal{K})$. This equation is reduced to the equation (1), for $B = I$ or if at least one of the operators A and B is invertible, this is actually a special case of the equation $AX + X^*C = B$.

2. Operator equation $AX + X^*C = B$

In this section we investigate the solvability of the equation

$$(2) \quad AX + X^*C = B,$$

where $A \in \mathcal{L}(\mathcal{K}, \mathcal{H}), C \in \mathcal{L}(\mathcal{H}, \mathcal{K})$ and $B \in \mathcal{L}(\mathcal{H})$ are given operators. Under some conditions we describe the set of the solutions.

The next theorem offers general conditions of the existence of a solution of the equation (2) in the case when A and C are invertible operators.

Theorem 2.1. *Let $A \in \mathcal{L}(\mathcal{K}, \mathcal{H})$ and $C \in \mathcal{L}(\mathcal{H}, \mathcal{K})$ be invertible operators and $B \in \mathcal{L}(\mathcal{H})$. If*

$$(3) \quad A(C^*)^{-1}B^* + B^*(A^*)^{-1}C = 2B,$$

then the operator equation (2) has a solution $X \in \mathcal{L}(\mathcal{H}, \mathcal{K})$. In this case any solution of the equation (2) is represented by

$$(4) \quad X = \frac{1}{4}A^{-1}B + \frac{1}{4}(C^*)^{-1}B^* + ZC - Z^*A^*,$$

*where $Z \in \mathcal{L}(\mathcal{K})$ satisfies $C^*Z^*C = AZ^*A^*$.*

Proof. Suppose (3) is satisfied. Taking $Z = 0$ in (4), we have that the operator X defined by (4) is the solution of the equation (2).

Now, suppose that the equation (2) has a solution $X \in \mathcal{L}(\mathcal{H}, \mathcal{K})$ and prove that it must be of the form (4). Let

$$\hat{A} = \begin{bmatrix} A & 0 \\ 0 & C^* \end{bmatrix} : \mathcal{K} \oplus \mathcal{K} \rightarrow \mathcal{H} \oplus \mathcal{H},$$

$$\hat{X} = \begin{bmatrix} 0 & X \\ X & 0 \end{bmatrix} : \mathcal{H} \oplus \mathcal{H} \rightarrow \mathcal{K} \oplus \mathcal{K},$$

and

$$\hat{B} = \begin{bmatrix} 0 & B \\ B^* & 0 \end{bmatrix} : \mathcal{H} \oplus \mathcal{H} \rightarrow \mathcal{H} \oplus \mathcal{H}.$$

By $AX + X^*C = B$, we have

$$\begin{aligned} \hat{A}\hat{X} + \hat{X}^*\hat{A}^* &= \begin{bmatrix} A & 0 \\ 0 & C^* \end{bmatrix} \begin{bmatrix} 0 & X \\ X & 0 \end{bmatrix} + \begin{bmatrix} 0 & X^* \\ X^* & 0 \end{bmatrix} \begin{bmatrix} A^* & 0 \\ 0 & C \end{bmatrix} \\ &= \begin{bmatrix} 0 & AX + X^*C \\ C^*X + X^*A & 0 \end{bmatrix} = \begin{bmatrix} 0 & B \\ B^* & 0 \end{bmatrix} = \hat{B}. \end{aligned}$$

By Djordjevic's result [4], it follows that \hat{X} has the following representation

$$\hat{X} = \frac{1}{2}\hat{A}^{-1}\hat{B} + \hat{W}\hat{A}^*,$$

where $\hat{W} \in \mathcal{L}(\mathcal{K} \oplus \mathcal{K})$ satisfies $\hat{W} = -\hat{W}^*$. Let

$$\hat{W} = \begin{bmatrix} W_{11} & W_{12} \\ W_{21} & W_{22} \end{bmatrix}.$$

Then by the above solution, we obtain

$$X = \frac{1}{2}A^{-1}B + W_{12}C = \frac{1}{2}(C^*)^{-1}B^* + W_{21}A^*,$$

$$W_{11}A^* = W_{22}C = 0.$$

Hence, $W_{11} = 0$ and $W_{22} = 0$. Now, by $\hat{W} = -\hat{W}^*$, we get $W_{12}^* = -W_{21}$. For $Z = W_{12}$, we have

$$X = \frac{1}{2}A^{-1}B + ZC,$$

where Z satisfying $ZC + Z^*A^* = \frac{1}{2}\{(C^*)^{-1}B^* - A^{-1}B\}$. Remark that the solution $X = \frac{1}{2}A^{-1}B + ZC$ and its condition $ZC + Z^*A^* = \frac{1}{2}\{(C^*)^{-1}B^* - A^{-1}B\}$ ensure the following equation

$$C^*Z^*C - AZ^*A^* = (X^*C + AX) - \frac{1}{2}\{B^*(A^*)^1C + A(C^*)^1B^*\}.$$

Using the condition (3) we get that X is represented by (4), where $Z \in \mathcal{L}(\mathcal{K})$ satisfies $C^*Z^*C = AZ^*A^*$. \square

Note that for arbitrary $Z \in \mathcal{L}(\mathcal{K})$ which satisfies $C^*Z^*C = AZ^*A^*$, the operator X defined by (4) is the solution of (2). So, the set of the solutions of (2) is completely characterized by

$$\{X = \frac{1}{4}A^{-1}B + \frac{1}{4}(C^*)^{-1}B^* + ZC - Z^*A^* : Z \in \mathcal{L}(\mathcal{K}), C^*Z^*C = AZ^*A^*\}.$$

Equation $C^*ZC = AZA^*$ is equivalent to

$$Z - D^*ZD = 0,$$

where $D = A^*C^{-1}$. Equation $Z - D^*ZD = E$ is well known discrete Lyapunov equation, and it is known that if 1 does not belong to the set product $\sigma(D)\sigma(D^*)$ of the spectra, then such an equation is uniquely solvable for each operator E by Kleinecke's theorem. Specialized software is available for solving Lyapunov equations. For the discrete case, the Schur method of Kitagawa [7] is often used.

It is interesting to remark that (3) is sufficient but not necessary condition for the existence of a solution of the equation (2). That the converse of Theorem 2.1 can not be proved is illustrated by the following example:

Example. Let us consider the set of 2×2 matrices and let

$$A = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}, C = \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix} \text{ and } B = \begin{bmatrix} 1 & 2 \\ 0 & 1 \end{bmatrix}.$$

It is easy to check that $X = \begin{bmatrix} 1 & 1 \\ 0 & 0 \end{bmatrix}$ is a solution of (2), so the equation (2) is solvable but the condition (3) is not satisfied.

In the case when $C = A^*$ the equation (2) becomes

$$(5) \quad AX + X^*A^* = B.$$

which is exactly the equation considered in [4]. Note that in this case, the condition (3) becomes $B = B^*$ which is now equivalent to the existence of a solution of (5). Hence, the equation (5) is solvable if and only if $B = B^*$ and in this case the set of the solutions can be represented by

$$\begin{aligned} & \{X = \frac{1}{2}A^{-1}B + (Z - Z^*)A^* : Z \in \mathcal{L}(\mathcal{K})\} \\ & = \{X = \frac{1}{2}A^{-1}B + WA^* : W \in \mathcal{L}(\mathcal{K}), W^* = -W\}. \end{aligned}$$

Now, we will consider the more general case when A and C are g -invertible.

Theorem 2.2. *Let $A \in \mathcal{L}(\mathcal{K}, \mathcal{H})$ and $C \in \mathcal{L}(\mathcal{H}, \mathcal{K})$ be g -invertible, and $B \in \mathcal{L}(\mathcal{H})$ such that*

- (6) $CC^\dagger = A^\dagger A, C^\dagger C = AA^\dagger,$
- (7) $A^\dagger B(I - AA^\dagger) = (BC^\dagger)^*(I - AA^\dagger),$
- (8) $AA^\dagger(A(C^*)^\dagger B^* + B^*(A^*)^\dagger C)AA^\dagger = 2AA^\dagger BAA^\dagger.$

Operator equation (2) has a solution $X \in \mathcal{L}(\mathcal{H}, \mathcal{K})$ if and only if

(9) $(I - AA^\dagger)B(I - C^\dagger C) = 0.$

Any solution of the equation (2), if it exists, is represented by

$$X = \frac{1}{4}A^\dagger B + \frac{1}{4}(C^*)^\dagger B^* + \frac{1}{2}A^\dagger B(I - AA^\dagger) + ZC - Z^*A^* + (I - A^\dagger A)W,$$

*where $Z \in \mathcal{L}(\mathcal{K})$ satisfies $C^*Z^*C = AZ^*A^*$ and $W \in \mathcal{L}(\mathcal{H}, \mathcal{K})$ is arbitrary.*

Proof. First suppose that there exists a solution X of the equation (2). Then

$$(I - AA^\dagger)B(I - C^\dagger C) = (I - AA^\dagger)(AX + X^*C)(I - C^\dagger C) = 0.$$

Now, suppose that (9) is satisfied. Using the following decompositions

$$\mathcal{K} = \mathcal{R}(A^*) \oplus \mathcal{N}(A) \quad \text{and} \quad \mathcal{H} = \mathcal{R}(A) \oplus \mathcal{N}(A^*),$$

since A is g -invertible, we have that

$$A = \begin{bmatrix} A_1 & 0 \\ 0 & 0 \end{bmatrix} : \begin{bmatrix} \mathcal{R}(A^*) \\ \mathcal{N}(A) \end{bmatrix} \rightarrow \begin{bmatrix} \mathcal{R}(A) \\ \mathcal{N}(A^*) \end{bmatrix},$$

where $A_1 : \mathcal{R}(A^*) \rightarrow \mathcal{R}(A)$ is invertible.

In this case, the Moore-Penrose generalized inverse of A has the following matrix decomposition

$$A^\dagger = \begin{bmatrix} A_1^{-1} & 0 \\ 0 & 0 \end{bmatrix} : \begin{bmatrix} \mathcal{R}(A) \\ \mathcal{N}(A^*) \end{bmatrix} \rightarrow \begin{bmatrix} \mathcal{R}(A^*) \\ \mathcal{N}(A) \end{bmatrix}.$$

Also, there exist suitable matrix decompositions of B, C and Y :

$$\begin{aligned} B &= \begin{bmatrix} B_1 & B_2 \\ B_3 & B_4 \end{bmatrix} : \begin{bmatrix} \mathcal{R}(A) \\ \mathcal{N}(A^*) \end{bmatrix} \rightarrow \begin{bmatrix} \mathcal{R}(A) \\ \mathcal{N}(A^*) \end{bmatrix}, \\ C &= \begin{bmatrix} C_1 & C_2 \\ C_3 & C_4 \end{bmatrix} : \begin{bmatrix} \mathcal{R}(A) \\ \mathcal{N}(A^*) \end{bmatrix} \rightarrow \begin{bmatrix} \mathcal{R}(A^*) \\ \mathcal{N}(A) \end{bmatrix} \quad \text{and} \\ Y &= \begin{bmatrix} Y_1 & Y_2 \\ Y_3 & Y_4 \end{bmatrix} : \begin{bmatrix} \mathcal{R}(A^*) \\ \mathcal{N}(A) \end{bmatrix} \rightarrow \begin{bmatrix} \mathcal{R}(A^*) \\ \mathcal{N}(A) \end{bmatrix}. \end{aligned}$$

By (6) it follows that $C = A^\dagger AC = CAA^\dagger$ which implies that $C_2 = 0, C_3 = 0$ and $C_4 = 0$. Notice, that (6) also implies that $C_1 : \mathcal{R}(A) \rightarrow \mathcal{R}(A^*)$ is invertible. Hence,

$$C^\dagger = \begin{bmatrix} C_1^{-1} & 0 \\ 0 & 0 \end{bmatrix} : \begin{bmatrix} \mathcal{R}(A^*) \\ \mathcal{N}(A) \end{bmatrix} \rightarrow \begin{bmatrix} \mathcal{R}(A) \\ \mathcal{N}(A^*) \end{bmatrix}.$$

By computation we obtain

$$(I - AA^\dagger)B(I - C^\dagger C) = \begin{bmatrix} 0 & 0 \\ 0 & B_4 \end{bmatrix},$$

i.e., $B_4 = 0$. Now,

$$AX + X^*C = \begin{bmatrix} A_1X_1 + X_1^*C_1 & A_1X_2 \\ X_2^*C_1 & 0 \end{bmatrix} = \begin{bmatrix} B_1 & B_2 \\ B_3 & 0 \end{bmatrix},$$

is equivalent to

$$(10) \quad A_1X_1 + X_1^*C_1 = B_1,$$

$$(11) \quad A_1X_2 = B_2 \quad \text{and} \quad X_2^*C_1 = B_3,$$

for

$$X = \begin{bmatrix} X_1 & X_2 \\ X_3 & X_4 \end{bmatrix} : \begin{bmatrix} \mathcal{R}(A) \\ \mathcal{N}(A^*) \end{bmatrix} \rightarrow \begin{bmatrix} \mathcal{R}(A^*) \\ \mathcal{N}(A) \end{bmatrix}.$$

From (8) it follows that $A_1(C_1^*)^{-1}B_1^* + B_1^*(A_1^*)^{-1}C_1 = 2B_1$, so, using Theorem 2.1, we have that the equation (10) is solvable with a solution

$$X_1 = \frac{1}{4}A_1^{-1}B_1 + \frac{1}{4}(C_1^*)^{-1}B_1^* + Z_1C_1 - Z_1^*A_1^*,$$

where $Z_1 \in \mathcal{L}(\mathcal{R}(A^*))$ satisfying $C_1^*Z_1^*C_1 = A_1Z_1^*A_1^*$. By (7), it follows $A_1^{-1}B_2 = (B_3C_1^{-1})^*$, so $X_2 = A_1^{-1}B_2 = (B_3C_1^{-1})^*$. Note that if $Z = \begin{bmatrix} Z_1 & Z_2 \\ Z_3 & Z_4 \end{bmatrix}$ then the condition $C^*Z^*C = AZ^*A^*$ is equivalent to the condition $C_1^*Z_1^*C_1 = A_1Z_1^*A_1^*$. Finally,

$$X = \frac{1}{4}A^\dagger B + \frac{1}{4}(C^*)^\dagger B^* + \frac{1}{2}A^\dagger B(I - AA^\dagger) + ZC - Z^*A^* + (I - A^\dagger A)W$$

is a solution of the equation (2) where $Z \in \mathcal{L}(\mathcal{K})$ satisfies $C^*Z^*C = AZ^*A^*$ and $W \in \mathcal{L}(\mathcal{H}, \mathcal{K})$ is arbitrary. \square

As a corollary we obtain Theorem 2.2 from [4].

Corollary 2.1. *Let $A \in \mathcal{L}(\mathcal{K}, \mathcal{H})$ be a g -invertible and $B \in \mathcal{L}(\mathcal{H})$. The operator equation $AX + X^*A^* = B$ has a solution $X \in \mathcal{L}(\mathcal{H}, \mathcal{K})$ if and only if*

$$(12) \quad B = B^* \quad \text{and} \quad (I - AA^\dagger)B(I - AA^\dagger) = 0.$$

Any solution of the equation, if it exists, is represented by

$$(13) \quad X = \frac{1}{2}A^\dagger B + \frac{1}{2}A^\dagger B(I - AA^\dagger) + (Z - Z^*)A^* + (I - A^\dagger A)W,$$

where $Z \in \mathcal{L}(\mathcal{K})$ and $W \in \mathcal{L}(\mathcal{H}, \mathcal{K})$ are arbitrary.

3. The operator equation $AXB + B^*X^*A^* = C$

Let $A \in \mathcal{L}(\mathcal{H}, \mathcal{K})$, $B \in \mathcal{L}(\mathcal{K}, \mathcal{H})$ and $C \in \mathcal{L}(\mathcal{K})$ are given operators. The equation

$$(14) \quad AXB + B^*X^*A^* = C,$$

when B is invertible reduces to

$$(A^*B^{-1})^*X + X^*A^*B^{-1} = (B^*)^{-1}CB^{-1},$$

and, when A is invertible, to

$$X(A^{-1}B^*)^* + A^{-1}B^*X^* = A^{-1}C(A^*)^{-1}.$$

Both of equations are special cases of equation (2), so by Corollary 2.1 we get the following result:

Corollary 3.1. *Let $A \in \mathcal{L}(\mathcal{H}, \mathcal{K})$, $B \in \mathcal{L}(\mathcal{K}, \mathcal{H})$, $C \in \mathcal{L}(\mathcal{K})$ be such that B is invertible and $D = A^*B^{-1}$ is g -invertible. The solution $X \in \mathcal{L}(\mathcal{H})$ of the equation (14) exists if and only if*

$$(15) \quad C = C^* \quad \text{and} \quad (I - D^\dagger D)E(I - D^\dagger D) = 0,$$

where $E = (B^*)^{-1}CB^{-1}$. In this case, any solution of equation (14) is represented by

$$X = \frac{1}{2}(D^*)^\dagger E + \frac{1}{2}(D^*)^\dagger E(I - D^\dagger D) + (Z - Z^*)D + (I - DD^\dagger)W,$$

where $Z \in \mathcal{L}(\mathcal{H})$ and $W \in \mathcal{L}(\mathcal{H})$ are arbitrary.

It is interesting to consider the more general case when both A and B are g -invertible operators.

Theorem 3.1. *Let $A \in \mathcal{L}(\mathcal{H}, \mathcal{K})$, $B \in \mathcal{L}(\mathcal{K}, \mathcal{H})$, $C \in \mathcal{L}(\mathcal{K})$ be such that A, B and $D = A^*B^\dagger$ are g -invertible, and*

$$(16) \quad B^\dagger BA = ABB^\dagger,$$

$$(17) \quad (I - BB^\dagger)(AA^\dagger C - C)BB^\dagger = 0,$$

$$(18) \quad (I - D^\dagger D)(B^\dagger)^*CB^\dagger(I - D^\dagger D) = 0.$$

Operator equation (14) has a solution $X \in \mathcal{L}(\mathcal{H})$ if and only if

$$(19) \quad C = C^* \quad \text{and} \quad (I - B^\dagger B)C(I - B^\dagger B) = 0.$$

Any solution of equation (14), if it exists, is represented by

$$(20) \quad \begin{aligned} X = & \frac{1}{2}(D^*)^\dagger E + \frac{1}{2}(D^*)^\dagger E(I - D^\dagger D) + BB^\dagger(Z - Z^*)D \\ & + BB^\dagger(I - DD^\dagger)W + (I - BB^\dagger)(A^\dagger CB^\dagger + (I - A^\dagger A)Y) \\ & + L(I - BB^\dagger), \end{aligned}$$

where $E = (B^*)^\dagger CB^\dagger$ and $Z \in \mathcal{L}(\mathcal{H})$, $Y \in \mathcal{L}(\mathcal{H})$, $W \in \mathcal{L}(\mathcal{H})$ and $L \in \mathcal{L}(\mathcal{H})$ are arbitrary.

Proof. If equation (14) has a solution it is evident that (19) is satisfied. On the contrary, suppose that (19) is satisfied. Since B is g -invertible, we have that

$$B = \begin{bmatrix} B_1 & 0 \\ 0 & 0 \end{bmatrix} : \begin{bmatrix} \mathcal{R}(B^*) \\ \mathcal{N}(B) \end{bmatrix} \rightarrow \begin{bmatrix} \mathcal{R}(B) \\ \mathcal{N}(B^*) \end{bmatrix},$$

where $B_1 : \mathcal{R}(B^*) \rightarrow \mathcal{R}(B)$ is invertible.

Also, there exist matrix decompositions of A and C ,

$$A = \begin{bmatrix} A_1 & A_2 \\ A_3 & A_4 \end{bmatrix} : \begin{bmatrix} \mathcal{R}(B) \\ \mathcal{N}(B^*) \end{bmatrix} \rightarrow \begin{bmatrix} \mathcal{R}(B) \\ \mathcal{N}(B^*) \end{bmatrix} \quad \text{and}$$

$$C = \begin{bmatrix} C_1 & C_2 \\ C_3 & C_4 \end{bmatrix} : \begin{bmatrix} \mathcal{R}(B) \\ \mathcal{N}(B^*) \end{bmatrix} \rightarrow \begin{bmatrix} \mathcal{R}(B^*) \\ \mathcal{N}(B) \end{bmatrix}.$$

As $B^\dagger BA = ABB^\dagger$ we have $A_2 = 0$ and $A_3 = 0$. From (19), it follows that $C_1 = C_1^*$, $C_3 = C_2^*$ and $C_4 = 0$.

If we suppose that X has the following corresponding decomposition

$$X = \begin{bmatrix} X_1 & X_2 \\ X_3 & X_4 \end{bmatrix},$$

we obtain that

$$AXB + (AXB)^* = \begin{bmatrix} A_1X_1B_1 + (A_1X_1B_1)^* & (A_4X_3B_1)^* \\ A_4X_3B_1 & 0 \end{bmatrix} = \begin{bmatrix} C_1 & C_2 \\ C_2^* & 0 \end{bmatrix},$$

i.e.,

$$(21) \quad A_1X_1B_1 + (A_1X_1B_1)^* = C_1,$$

$$(22) \quad A_4X_3B_1 = C_2^*.$$

From the fact that

$$D = A^*B^\dagger = \begin{bmatrix} A_1^*B_1^{-1} & 0 \\ 0 & 0 \end{bmatrix}$$

is g -invertible, we have that $D_1 = A_1^*B_1^{-1}$ is g -invertible, i.e., A_1 is g -invertible. Also, from (18), we have that

$$(23) \quad (I - D_1^\dagger D_1)E_1(I - D_1^\dagger D_1) = 0,$$

where $E_1 = (B_1^*)^{-1}C_1B_1^{-1}$. Now, using Corollary 3.1, we obtain that equation (21) has a solution

$$X_1 = \frac{1}{2}(D_1^*)^\dagger E_1 + \frac{1}{2}(D_1^*)^\dagger E_1(I - D_1^\dagger D_1) + (Z_1 - Z_1^*)D_1 + (I - D_1D_1^\dagger)W_1,$$

where $Z_1 \in \mathcal{L}(\mathcal{R}(B))$ and $W_1 \in \mathcal{L}(\mathcal{R}(B))$ are arbitrary. Notice that A_4 is g -invertible since A and A_1 are g -invertible. Equation (22) has a solution if and only if $A_4A_4^\dagger C_3 = C_3$ which is satisfied by (17) and the solution is represented by

$$X_3 = A_4^\dagger C_3 B_1^{-1} + (I - A_4^\dagger A_4)Y,$$

where $Y \in \mathcal{L}(\mathcal{R}(B^*), \mathcal{N}(B))$ is arbitrary.

Now, by computation we get that X is represented by (20). □

Acknowledgement. The author is indebted to the referee whose careful reading of the paper helped to improve the presentation of the paper.

References

- [1] A. Ben-Israel and T. N. E. Greville, *Generalized Inverses*, Theory and applications. Second edition. CMS Books in Mathematics/Ouvrages de Mathematiques de la SMC, 15. Springer-Verlag, New York, 2003.
- [2] S. L. Campbell and C. D. Meyer Jr., *Generalized Inverses of Linear Transformations*, Corrected reprint of the 1979 original. Dover Publications, Inc., New York, 1991.
- [3] S. R. Caradus, *Generalized Inverses and Operator Theory*, Queen's Papers in Pure and Applied Mathematics, 50. Queen's University, Kingston, Ont., 1978.
- [4] D. S. Djordjević, *Explicit solution of the operator equation $A^*X + X^*A = B$* , J. Comput. Appl. Math. **200** (2007), no. 2, 701–704.
- [5] R. E. Harte, *Invertibility and singularity for bounded linear operators*, Monographs and Textbooks in Pure and Applied Mathematics, 109. Marcel Dekker, Inc., New York, 1988.
- [6] P. Kirrinnis, *Fast algorithms for the Sylvester equation $AX - XB^T = C$* , Theoret. Comput. Sci. **259** (2001), no. 1-2, 623–638.
- [7] G. Kitagawa, *An algorithm for solving the matrix equation $X = FXF^T + S$* , *International Journal of Control*, **25** (1977), no. 5, 745–753.
- [8] Y. X. Peng, X. Y. Hu, and L. Zhang, *An iteration method for the symmetric solutions and the optimal approximation solution of the matrix equation $AXB = C$* , Appl. Math. Comput. **160** (2005), no. 3, 763–777.
- [9] Z. Y. Peng and X. Y. Hu, *The reflexive and anti-reflexive solutions of the matrix equation $AX = B$* , Linear Algebra Appl. **375** (2003), 147–155.
- [10] D. C. Sorensen and A. C. Antoulas, *The Sylvester equation and approximate balanced reduction*, Linear Algebra Appl. **351/352** (2002), 671–700.

DEPARTMENT OF MATHEMATICS
FACULTY OF SCIENCES AND MATHEMATICS
UNIVERSITY OF NIŠ
P.O. BOX 224, VIŠEGRADSKA 33, 18000 NIŠ, SERBIA
E-mail address: gagamaka@ptt.yu; dragana@pmf.ni.ac.yu